LAMBD, DIS-H SHUTTER SYSTEM

Installation Manual (Recessed Mount)

Thank you for selecting our product. Before starting installation, please read this manual
thoroughly to ensure correct installation.
Please keep this manual at hand for future reference.

BABOUT THIS PRODUCT

This product is a shutter system for cabinets.

Minimum installation space is required, as the tracks are recessed.

O

This symbol denotes prohibited actions.

This symbol denotes what must be done.

Caution If this cautions are not followed, it may result in injury or damege.

|

®
A
o
o)

\_ ®

When cutting the slats, remove burrs on the edges.
Remove any dirt or wooden chips from the guide tracks bofore the installation of the shutter profiles.
Do not lean on the shutter profiles. It may cause breakage of the slats.

ETYPES OF CABINET / DIMENSIONS

Design the cabinet to allow disassembly, so that the slats can be replaced if broken.

Vertical Horizontal Horizontal - Double opening

||mu\lluummﬂm\‘\‘ m
m Hm““mmmumm
||\|||\||\|||\|||\”m|
Width 300~900mm 300~900mm 600~1800mm
Height 300~900mm 100~1188mm 100~1188mm
Depth Min. 200mm Min. 200mm Min. 200mm
BMINSTALLATION DRAWING BCABINET PROCESS DIMENSION

(Example of Vertical type with front cover)

-==2(when using Front cover)
o

I o R15
0 -

R21
'

| R21
— ==Sse=
[ Ri5 'L}

R21 o

Min.600

1001+t 1

15
35
10+0.1
20

When not ‘
using Front
cover grooves:

I

I

Depth of }
12~12.2 ‘
i

10

10+£0.1

5

P g ] L g g L g g

300~900

< Optional part>
QD/(@ @Cam lock
’ } Z[i
Ror=
' iEe12
LOTTTE
f
95 ~6
a5 ~l 265 =
S — 46 —

SUGHTSUNE



BSCREWS NEEDED FOR ASSEMBLY

Metal cabinet Wodden cabinet Both
Vertical Horizontal Vertical Horizontal Vertical
(for spring plate) (for spring plate) (for spring plate)
Cross recessed pan head _ _ _ _ 2
screw M4 x 10
Cross recessed bind head
A - - 4 - -
tapping screw ¢4
Cross recessed pan head
4 - - - -
screw M4
BCOMPONENT PARTS
DSlat (@Recessed rail (®Guiding rail (90°) (®Front end-slat
DIS-001-1200 DIS-002-2000 DIS-003-90 DIS-007-1200
1200mm 2000mm 1200mm

/

(®Back end-slat *1

DIS-008-1200
2000mm

[

(®End slider
DIS-009

—

(@Spring plate *1

DIS-012

(®Balance spring *!
(Build to Order)

*1 For vertical type only.

HOPTIONAL PARTS
(@Front cover @@Cam lock ()Counter plate {Center stopper (recessed) *2
DIS-006-1200 DIS-011 DIS-016
1200mm DIS-022 DIS-010 (Screws included)
(B b \*i' 1]-1,
s | N B
\’ ‘ f{-’ EéL b .F.f !
@3)Counter plate (for double opening) *2  |ddMiddle slat (®Handhold slat
DIS-021 DIS-019 DIS-023
1198mm

a

..-"""'d“-‘ﬁ'

=

/

* 2 For Horizontal - Double doors only

HPROCESS DIMENSIONS FOR SLATS

Vertical Horizontal Horizontal - Double opening
Quantity Quantity Quantity
| h | h
Parts name (rounded) length (rounded up) engt (rounded up) engt
Ww<586 H<586 H<586 -
(H+D-43)/40 W/40 {(W/2)/40} x2
Slat W=586 W+12 H>586 H+12 H=586 H+12
(H+D-43)/48 w/48 W/48 x2
. 2 (Front) (W/2)-60
f::ﬁefsed rail 4 H-60 4 W-60 2 (Front) (W/2)-61.5 *3
9 2 (Rear) W-120
i H
:‘s‘;‘;e:)sed rail 2 H-130 2 W-130 4 (W/2)-130
N
Front end-slat 2 W-10 1 H-10 2 H-10
Back end-slat W+10 Not required w
OPTIONS \
Front cover 1 w ! H 2 H
(W<586 only) (H<586 only) (H<586 only)
. (H+D-43)/48 w/48 {(W/2)/48} x2
Widdle slat wzss6only) | V10 | (Hzsssonty) | M0 | (Hz586 only) H+10
Handhold slat 1 W+10 1 H+10 2 H+10

* 3 For Horizontal type with double doors, one side of Guiding rail is cut 1.5mm shorter

to insert Center stopper.

2

SUGHTSUNE




HINSTALLATION PROCEDURE
1. Assembling Recessed rail

Connect Recessed rail and Guiding rail (90°) and put into
the groove processed on the side board.

For horizontal type with double doors, insert Center
stopper to the end of Recessed rail (long) at the front side.
(*4)

/\ Remove burr or any dirt that interfere with the
movement of slat in the groove.

*4 Inserting Center stopper
for horizontal type with

Recessed rail (long)

2. Processing and Assembling End-slat

(Vertical type)

Front end-slat

End slider

Y

=4

& Pay attention to the direction of
parts.

@Using an optional part Cam lock
(Both vertical and horizontal types)

®19.5
Front
end-slat

Make a hole with V-groove as a center.

M4x10
Spring plate

Back end-slat

2XM4 threaded hole

Fix Spring plate on the center of Back
end-slat with screws.
Make threaded holes on V-groove.

(Horizontal type)

Front end-slat

End slider

& Pay attention to the direction of
parts.

(Horizontal Double Doors type)

M4x10

2XM4 threaded hole

? Counter plate for double opening

& Pay attention to the direction of End-slat and the positional
relation between End-slat and Counter plate.

SUGHTSUNE



3. Assembling slat (both vertical and horizontal types)

/\ Combine Middle slat between slats for vertical type with width 586mm or more (Horizontal type with height 586mm or
more).
When using Handhold slat, be sure to insert it between slats, do not connect with Middle slat.
After connecting slats, align both side ends of slats and apply tapes on the backside to prevent lateral displacement.
At this time, Since Middle slat is 2-3mm in width shorter than slat, fix it 1-1.5mm inner side from both ends.

Front end-slat

i

/
1~1.5 \_Middle slat

Back end-slat

4. Installing into a cabinet (both vertical and horizontal types)

It is recommended to apply Vertical type only
dry lubrication spray inside of
groove on Recessed rail and
Guiding rail for sliding slat.
Smooth movement can be
maintained by periodically
applying a lubricant.

* Balance spring
is built to order
providing optimal
strength according
to the weight of
shatter.

Spring plate

For wooden cabinet,
fix with tapping screws
®4. For metal cabinet,
fix with pan head
screws M4.

Spring plate is attached in fully opened state of shutter.
When viewed from the front of cabinet, as shown in
the figure above, attach Spring plate at a position of a
half of a distance from the end of backside of slat to
bottom board. After that, hook two Balance springs in
v-shaped as in the figure.

5. Installing Front cover (optional parts)

Peel release paper from double-sided tape on Front

Front cover cover, attach to the end of surface of top board.

SUGATSUNE KOGYO CO.,LTD. SUGATSUNE KOGYO (UK) LTD. SUGATSUNE AMERICA, INC. SUGATSUNE SHANGHAI CO., LTD.

Phone: +81 3 3866 2260 Phone: +44 118 9272 955 Phone: +1 310 329 6373 Phone: +86 21 3632 1858

F a x : +81 3 3866 4447 F a x : +44 118 9272 871 F a x : +1310329 0819 F a x : +86 21 3632 1868
E-mail: export@sugatsune.co.jp E-mail: sales@sugatsune.co.uk E-mail: sales@sugatsune.com E-mail: lamp@sugatsune.com.cn
Website: www.sugatsune-intl.com Website: www.sugatsune.co.uk Website: www.sugatsune.com Website: www.sugatsune.com.cn

1SO9001(Japan Offices and Sugatsune America) and ISO14001(Chiba Production division and Logistics center), certified.
2014 03 PRINTED IN JAPAN 0796-2



